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QUESTION 1

Each router running OSPF has a router ID. A router ID is a 32-bit integer and uniquely identifies a router. Hence, even
of routers in different ASs, the router IDs must be different.

A. True
B. False

Correct Answer: B

QUESTION 2
Which of the following statements about OSPF authentication are false? (Choose two.)
A. Entering a password in cipher text is allowed.

B. The ospf authentication-mode md5 1 huawei command and the ospf authentication-mode md5 1 plain huawei
command have the same function.

C. If passwords are configured for both an area and an interface, the password configured for the area is used.

D. The ospf authentication-mode simple huawei command and the ospf authentication-mode simple plain Huawei
command have the same function.

Correct Answer: BC

QUESTION 3

If different routing protocols run on different networks and these networks need to share routing information, route
importing can be used.

A. True
B. False

Correct Answer: A

QUESTION 4

Assume that the VRID of a VRRP virtual router is 100 and the virtual IP address of the virtual router is 192.168.1.1,
which of the following addresses is the virtual MAC address of the virtual router?

A. 00-00-5E-00-01-64
B. 00-00-5E-00-01-01

C. 01-00-5E-00-01-64
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D. 01-00-5E-00-01-01

Correct Answer: A

QUESTION 5

RSTP is different from STP regarding defining port states. Which port states does RSTP define?
A. Discarding

B. Learning

C. Forwarding

D. Discarding, Learning, and Forwarding

Correct Answer: D
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